C p‘ *.LS) Se.ﬁt NOL — No. of printed pages: 03
SARDAR PATELUNIVERSITY
M. A. FINAL (EXTERNAL) EXAMINATION
WEDNESDAY, DATE: 27/04 /2016
TIME: 02:30 p.m. To 05:30 p.m.
Subject Code: ECO-507  Title: P- VIl - QUANTITATIVE ECONOMICS

Note: Figures to the right indicate maximum marks of the question. Total Marks- 100
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(A) Explain the economic model with its components. Describe the income determination model 11
of Keynes with the help of mathematics.
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(B)  Solve the following simultancous equations with the help of matrix. 10
ARlsoll meeell olAotl Yorud uMls0el G3et el
2X +3Y + 52 =3
7X +8Y + 472 =23
SX+ Y + 72 =2
(¢) Narrate the characteristics of ideal diagram. 04
AU Al ctal@scd addl.

OR (AHal)

(i)  Write a detailed note on diagram including various types and usage of diagrams. 12
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(i) Solve the following problem using the graphical method to solve the linear programming 7
problem.

YU A Yetotl Slustell G3ctoll wiAuiell ol GuoL AR (Aot Slasied G3et Sl
Objective Function (t%tjc-laﬂ @Ra) € = 05X + Y, Where C = Cost (W)

Constraints (UQeitl); 5X + 2Y > 10

X+ Y=4
X +3Y >6

Non-negative conditions (Aejl %2cll); X > 0 and Y > 0
(iii) Briefly explain the types of the function. 06
[@QRaetl Ysid gsui unnAl.

(A) Using differentiation, prove that when the slope of marginal production curve is negative and 10
marginal production = average production then average production will be maximum.
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Solve the following problem of Input- Output analysis. 09
ol Aol vt cl-Baii e ofl qxrauel G3e UL,

l Outbut (u_@.a[c[) Final Demand E
| A B C (Betzell Wia) |
Input A 14 8 16 U g
(vl 'B 15 19 15 19 |
o C 10 RERE % |
Describe the characteristics of determinant. 06

@Aslasell clla@s Rl dmesdl.

OR (A&al)
Using the differentiation, derive the conditions of equilibrium of a firm in perfect competition. 08 .
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If demand function and total cost function of a commodity are P=12 - 4X and C=8X - X3 06
respectively, then find out the maximum profit.

ol As clacdoll Mol QAU AU et W QAU AofsA P=12 - 4X el C=8X - X du A
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Discuss the various methods to examine the association of attributes with appropriate 11
illustrations.
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Describe Lorenz Curve and draw Lorenz Curve using following information. 10

Qoo adAsofl AHYAl AU AUR Aol HBAllol Gualot s3lA AReR as €L
Town-A | Persons cEal 95| 130/ 110} 100 | 145 80 120] 150( 160| 90

482= U, yily Income 2 @8 2utcts| 500| 475] 525 600 | 450| 625 435| 375 345 400

Town-B| Persons c(sadl 601 80 40| 35 | 110/ 40| 45 90 30| 40

313’2“* Daily Income @5 wilcis 800| 600| 925 1000 875 750| 785 475/ 900| 500,

]
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Deﬁne probéBilily and discuss the property of binominal and normal distribution. 06
dotdotla culwlEd 53| axe BGuel Uad uiet @QcReedl cla@sdrie(l wl 531,

Using the following data, derive the equations of regression. And find out the value of X’, 09
when the value of ‘Y would be 150 also find out the coefficient of correlation.

o Aell WBAA Gudal 53R Raudioin w500 dRA. A RUAR Yo HE&L 150 AU
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X | o [ o7 [ [ 12n |7 | 124 [ 51 |||
y | s | e [ 97 [ ] 91 [ ]6 | 80 |47

OR (HUal)

Give the meaning of dispersion. Narrate the various absolute and relative measures of 10
dispersion with their merit-demerits and usage in economic analysis.
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‘For following data, find out the coefficient of correlation using product moment method.

ol Qefl HiRell W2 apaet e uttlAel Gualol s8R usdciuis A4l

(X [43 4414640 [44742745 42381404257
Y 129 (31 119 18119127 2712914130261 1.0]

Which is the ideal measure of central tendency? — Present arguments with appropriate
examples to support your opinion,
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Give the meaning of Correlation. Describe the various types of correlation with the help of
scatter diagram and coefficient of correlation.
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Narrate the construction of index number with illustration. State various methods to construct
the index number.

Yusuisell 2uotlef Gelsrel A3l (Qoid afet 53, Yusulisell 2stioll QRY A weudl.

Construct the index numbers using methods of Laspeyre, Paasche, Fisher, Marshall-
Edgeworth and Dorbish-Bowley. Examine that which of these indices fulfill the time reversal
test and factor reversal test.
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Commodity 2015 2016
dir} | Quantity %2l | Price (BHd | Quantity %280l | Price (BHct
A 110 4 150 6
B 40 3 60 4
C E N 9
D 10 12 12 20
E ) d 4
OR (AH&dl)

Define the association of attributes. Discuss the various methods the measure this
associationship with appropriate illustrations.
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Discuss the causes responsible for error in regression. Narrate the uses of regression in
economics.

[RatcdoltHl ey 12 weeelR sielell AUl 53, wdauzml Raddeiust Gualol add),

An Insurance company insured 2000 scooter drivers, 4000 car drivers and 6000 truck drivers.
The probabilities to meet with an accident by a scooter driver, a car driver and a truck driver
are 0.01, 0.03 and 0.15 respectively. One of the insured drivers meats with an accident. Find
out probability that he is a car driver. '

Ayl sualld 2000 22 gL, 4000 52 P uA 6000 25 TARell Ml
Getall B. 2R e, 512 SR U 25 glfaRe{l ustld Aeclioll dauaell uegsR
0.01, 0.03 ua 0.15 B, luuRs gifauiell As g Ustlda ®2 B. d 52 glfa?
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